R
(S35

2
/-

s
;
=

)

ES

/N

2

Zan

#t
22
1L
=
X
T =
IS
B R
il
A
=
T =

BEHEE
hEHHR
SRR GSES

=15

(1-2BB)e#Ek-2#+R-28%E% (3-4H B BRLEKEE

10

11

12

SH2EEE750RMILESEFEZR/N\IFR—ILTFIAKRE F

F76MRERABRE(DEOR)AURERREFEEZES
Hetw (B¥F)
=108 ¥288 #EE =40 B ¥388 #2088 =1HE
3 PG5
H4 12
5 7
&2 &3
13 thg
2 f%
3 : 4
8
76 Ba7
th4 th3
6 8
SHLIRTEEL
7
&5 5
b2 758
10/31(%L) é11/1(E|)§11/7(:t)§ 11/8(8H) 211/7(212)?11/1(5)? 10/31(x)
B B SHEER
( )
B SEFR
B3 BEFR
Eabr BEFR

AEEE £RE 25959 —259-TMTC CERBLYF—LEA LT I+HY)

(£8%8)

1. 9:00~ 2. 10:10~ 3. 11:20~4. 12:30~ 5. 13:40~ 6. 14:50~7. 16:00~8. 17:10~

13

14

15

16

17

18

19

20

21

22

23

24

)

7K

K

i

£

2 &

3

B

3

iii);

R

it



